



On Optimization Policy for Verma Entropy by Dynamic Programming

Rohit Kumar Verma ^{a++*}

^a Department of Mathematics, Bharti Vishwavidyalaya, Durg, C.G., India.

Author's contribution

The sole author designed, analysed, interpreted and prepared the manuscript.

Article Information

DOI: 10.9734/AJPAS/2023/v21i4469

Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: <https://www.sdiarticle5.com/review-history/97590>

Received: 10/01/2023

Accepted: 13/03/2023

Published: 17/03/2023

Original Research Article

Abstract

Varma [1,2] entropy has attracted attention for a new class of non-linear integer programming problems that arise during the course of discussion. Our focus in this communication is to explore the techniques of dynamic programming. This process requires splitting any optimization event into a finite number of subcomponents for any occurrence of a finite generalized problem. The capacity plan should be partitioned in such a way that the expression can be optimized.

Keywords: Dynamic programming; measure of entropy; optimization policy etc.

1 Introduction

Figuring out the number of sub-component is only possible through powerful dynamic programming tool. In the present communication, optimization of own entropy is carried out by the author by partitioning each event into its sub-events under the finite generalized likelihood scheme.

⁺⁺ Associate Professor

*Corresponding author: Email: rohitkverma73@rediffmail.com;

Dynamic programming works on the principle of optimality. Principle of optimality states that in an optimal sequence of decisions or choices, each subsequences must also be optimal. An optimal policy has the property that whatever the initial states and initial decision are, the remaining decisions must constitute an optimal policy with regard to the state resulting from the first decision. Bellman’s principle of optimality is related to the dynamic programming problem.

The main concept of dynamic programming is straight-forward. We divide a problem into smaller nested subproblems, and then combine the solutions to reach an overall solution. This concept is known as the principle of optimality. The term dynamic programming was first used in the 1940’s by Bellman, Richard [3] to describe problems where one needs to find the best decisions one after another. In the 1950’s, he refined it to describe nesting small decision problems into larger ones. The mathematical statement of principle of optimality is remembered in his name as the Bellman equation.

Dynamic programming is a useful mathematical technique for making a sequence of interrelated decisions. It provides a systematic procedure for determining the optimal combination of decisions.

In contrast to linear programming, there does not exist a standard mathematical formulation of “the” dynamic programming problem. Rather, dynamic programming is a general type of approach [4] to problem solving, and the particular equations used must be developed to fit each situation. Therefore, a certain degree of ingenuity and insight into the general structure of dynamic programming problems is required to recognize when and how a problem can be solved by dynamic programming procedures. These abilities can best be developed by an exposure to a wide variety of dynamic programming applications and a study of the characteristics that are common to all these situations.

Observing the outcomes of a sequence of measurements usually increases our knowledge about the state of a particular system we might be interested in. An informative measurement is the most efficient way of gaining this information, having the largest possible statistical dependence between the state being measured and the possible measurement outcomes.

Our general dynamic programming framework allows sub-optimal solution methods to be implemented in a straightforward manner by approximate dynamic programming [5] and reinforcement learning [6], avoiding the need to develop new approximation methods for each specific situation.

The aim of this work is to develop from first-principles a general-purpose dynamic programming for finding optimal sequences of informative measurements. We do not consider measurement problems with hidden states, such as hidden Markov [7] models, that can only be observed indirectly through noisy measurements. This leads to a tractable algorithm that constructs an optimal sequence of informative measurements by sequentially maximizing the entropy of measurement outcomes. In addition to planning a sequence of measurements for a particular measurement problem, our algorithm can also be used by an autonomous agent or robot exploring a new environment to plan a path giving an optimal sequence of informative measurements. The framework we use for dynamic programming is very general, and includes Markov decision processes (MDPs) [8] as a special case.

By the use of dynamic programming, Kapur [9,10] maximized measure of entropy subject to the given constraints and for optimal sub division of out-comes for obtaining maximum gain in information subject to a given budget. Kapur [9,10] maximized Shannon’s [11] entropy:

$$-\sum_{i=1}^n p_i \ln p_i \tag{1.1}$$

subject to the constraints

$$\sum_{i=1}^n p_i = c, \quad p_i \geq 0 \tag{1.2}$$

by dynamic programming,

2 Our Results

2.1 Maximization of Verma [1,2] *i. e.* hybrid Burg measures of entropy

$$H_n(P) = \sum_{i=1}^n [-\ln(1 + ap_i) + \ln p_i + \ln(1 + a)], \quad a > 0. \tag{2.1.1}$$

For the application of this principle, we consider the maximization of:

$$H_n(P) = -\sum_{i=1}^n \ln(1 + ap_i) + \sum_{i=1}^n \ln p_i + \sum_{i=1}^n p_i \ln(1 + a)$$

subject to the constraints

$$\sum_{i=1}^n p_i = c, \quad p_i \geq 0, \quad i = 1, \dots, n. \tag{2.1.2}$$

Let the maximum value be $H_n(c)$, then obviously

$$H_1(c) = -\ln(1 + ac) + \ln c + c \ln(1 + a). \tag{2.1.3}$$

If we choose p_1 arbitrarily between 0 and c , we have to maximize

$$-\sum_{i=2}^n \ln(1 + ap_i) + \sum_{i=2}^n \ln p_i + \sum_{i=2}^n p_i \ln(1 + a)$$

Subject to the constraints

$$\sum_{i=1}^n p_i = c - p_1, \quad p_i \geq 0, \quad i = 1, \dots, n.$$

This maximum value will be $H_{n-1}(c - p_1)$. The principle of optimality then gives the recurrence relation

$$H_n(c) = \max_{0 \leq p_1 \leq c} [-\ln(1 + ap_1) + \ln p_1 + p_1 \ln(1 + a) + H_{n-1}(c - p_1)] \tag{2.1.4}$$

On setting $n = 2$, in (2.1.4) we achieve the following result, on using (2.1.3)

$$\begin{aligned} H_2(c) &= \max_{0 \leq p_1 \leq c} [-\ln(1 + ap_1) + \ln p_1 + p_1 \ln(1 + a) + H_1(c - p_1)] \\ &= \max_{0 \leq p_1 \leq c} \left[-\ln(1 + ap_1) + \ln p_1 + p_1 \ln(1 + a) - \right. \\ &\quad \left. \ln(1 + a(c - p_1)) + \ln(c - p_1) + (c - p_1) \ln(1 + a) \right] \\ &= \max_{0 \leq p_1 \leq c} \left[-\ln(1 + ap_1) + \ln p_1 + p_1 \ln(1 + a) - \right. \\ &\quad \left. \ln(1 + ac - ap_1) + \ln(c - p_1) + (c - p_1) \ln(1 + a) \right] \\ &= -\ln\left(1 + \frac{ac}{2}\right) + \ln \frac{c}{2} - \ln\left(1 + \frac{ac}{2}\right) + \ln \frac{c}{2} + c \ln(1 + a) \\ &= -2 \ln\left(1 + \frac{ac}{2}\right) + 2 \ln \frac{c}{2} + c \ln(1 + a) \end{aligned} \tag{2.1.5}$$

we achieve the maximum value, when $p_1 = p_2 = \frac{c}{2}$.

Again, setting $n = 3$, in (2.1.4) we achieve the following result, on using (2.1.5)

$$\begin{aligned} H_3(c) &= \max_{0 \leq p_1 \leq c} [-\ln(1 + ap_1) + \ln p_1 + p_1 \ln(1 + a) + H_2(c - p_1)] \\ &= \max_{0 \leq p_1 \leq c} \left[-\ln(1 + ap_1) + \ln p_1 + p_1 \ln(1 + a) - \right. \\ &\quad \left. 2 \ln \frac{(2+a(c-p_1))}{2} + 2 \ln \frac{(c-p_1)}{2} + (c - p_1) \ln(1 + a) \right] \\ &= -\ln\left(1 + \frac{ac}{3}\right) + \ln \frac{c}{3} + \frac{c}{3} \ln(1 + a) - 2 \ln\left(\frac{2+2a.c/3}{2}\right) + 2 \ln \frac{c}{3} + \frac{2c}{3} \ln(1 + a) \\ &= -3 \ln\left(1 + \frac{ac}{3}\right) + 3 \ln \frac{c}{3} + c \ln(1 + a) \end{aligned} \tag{2.1.6}$$

we achieve the maximum value, when $p_1 = p_2 = p_3 = \frac{c}{3}$.

It thus seems to be

$$H_n(c) = -n \ln\left(\frac{n+ac}{n}\right) + n \ln \frac{c}{n} + c \ln(1+a) \tag{2.1.7}$$

The above result arises, when $p_1 = p_2 = \dots = p_n = \frac{c}{n}$.

Obviously, it will be true for a specific value of n , equation (2.1.4) gives

$$\begin{aligned} H_{n+1}(c) &= \max_{0 \leq p_i \leq c} [-\ln(1+ap_1) + \ln p_1 + p_1 \ln(1+a) + H_n(c-p_1)] \\ &= \max_{0 \leq p_i \leq c} \left[-\ln(1+ap_1) + \ln p_1 + p_1 \ln(1+a) - n \ln\left(\frac{n+a(c-p_1)}{n}\right) + n \ln \frac{(c-p_1)}{n} \right. \\ &\quad \left. + (c-p_1) \ln(1+a) \right] \\ &= -(n+1) \ln\left(\frac{n+1+ac}{n+1}\right) + (n+1) \ln \frac{c}{n+1} + c \ln(1+a). \end{aligned} \tag{2.1.8}$$

Thus from (2.1.3), (2.1.5), (2.1.6) and (2.1.7) and the principle of mathematical induction, the result (2.1.7) and (2.1.8) are true for all value of n and c . Putting $c = 1$, we get the result that

$$-\sum_{i=1}^n \ln(1+ap_i) + \sum_{i=1}^n \ln p_i + \sum_{i=1}^n p_i \ln(1+a)$$

is maximum subject to $\sum_{i=1}^n p_i = 1$, when $p_1 = p_2 = \dots = p_n = \frac{1}{n}$ and the maximum value is

$$-n \ln\left(\frac{n+a}{n}\right) + n \ln \frac{1}{n} + \ln(1+a).$$

Which is Verma's *i. e.* hybrid Burg [1, 2] result.

2.2 Maximization of modified version of Verma *i. e.* hybrid Shannon [1, 2] measures of entropy

$$H_n(P) = \sum_{i=1}^n [\ln(1+ap_i) - p_i \ln p_i - \ln(1+a)], \quad a > 0. \tag{2.2.1}$$

For the application of this principle, we consider the maximization of

$$H_n(P) = \sum_{i=1}^n \ln(1+ap_i) - \sum_{i=1}^n p_i \ln p_i - \sum_{i=1}^n p_i \ln(1+a)$$

subject to the constraints

$$\sum_{i=1}^n p_i = c, \quad p_i \geq 0, \quad i = 1, \dots, n. \tag{2.2.2}$$

Let the maximum value be $H_n(c)$, then obviously

$$H_1(c) = \ln(1+ac) - c \ln c - c \ln(1+a). \tag{2.2.3}$$

If we choose p_1 arbitrarily between 0 and c , we have to maximize

$$\sum_{i=2}^n \ln(1+ap_i) - \sum_{i=2}^n p_i \ln p_i - \sum_{i=2}^n p_i \ln(1+a)$$

Subject to the constraints

$$\sum_{i=1}^n p_i = c - p_1, \quad p_i \geq 0, \quad i = 1, \dots, n.$$

This maximum value will be $H_{n-1}(c-p_1)$. The principle of optimality then gives the recurrence relation

$$H_n(c) = \max_{0 \leq p_1 \leq c} [\ln(1+ap_1) - p_1 \ln p_1 - p_1 \ln(1+a) + H_{n-1}(c-p_1)] \tag{2.2.4}$$

On setting $n = 2$, in (2.2.4) we achieve the following result, on using (2.2.3)

$$\begin{aligned}
 H_2(c) &= \max_{0 \leq p_i \leq c} [\ln(1 + ap_1) - p_1 \ln p_1 - p_1 \ln(1 + a) + H_1(c - p_1)] \\
 &= \max_{0 \leq p_i \leq c} \left[\begin{aligned} &\ln(1 + ap_1) - p_1 \ln p_1 - p_1 \ln(1 + a) + \\ &\ln(1 + a(c - p_1)) - (c - p_1) \ln(c - p_1) - (c - p_1) \ln(1 + a) \end{aligned} \right] \\
 &= \max_{0 \leq p_i \leq c} \left[\begin{aligned} &\ln(1 + ap_1) - p_1 \ln p_1 - p_1 \ln(1 + a) + \\ &\ln(1 + ac - ap_1) - (c - p_1) \ln(c - p_1) - (c - p_1) \ln(1 + a) \end{aligned} \right] \\
 &= \ln \left(1 + \frac{ac}{2} \right) - \frac{c}{2} \ln \frac{c}{2} + \ln \left(1 + \frac{ac}{2} \right) - \frac{c}{2} \ln \frac{c}{2} - c \ln(1 + a) \\
 &= 2 \ln \left(1 + \frac{ac}{2} \right) - c \ln \frac{c}{2} - c \ln(1 + a) \tag{2.2.5}
 \end{aligned}$$

we achieve the maximum value, when $p_1 = p_2 = \frac{c}{2}$.

Again, setting $n = 3$, in (2.2.4) we achieve the following result, on using (2.2.5)

$$\begin{aligned}
 H_3(c) &= \max_{0 \leq p_i \leq c} [\ln(1 + ap_1) - p_1 \ln p_1 - p_1 \ln(1 + a) + H_2(c - p_1)] \\
 &= \max_{0 \leq p_i \leq c} \left[\begin{aligned} &\ln(1 + ap_1) - p_1 \ln p_1 - p_1 \ln(1 + a) + \\ &2 \ln \frac{(2+a(c-p_1))}{2} - (c - p_1) \ln \frac{(c-p_1)}{2} - (c - p_1) \ln(1 + a) \end{aligned} \right] \\
 &= \ln \left(1 + \frac{ac}{3} \right) - \frac{c}{3} \ln \frac{c}{3} + 2 \ln \left(\frac{2+2a.c/3}{2} \right) - \frac{2c}{3} \ln \frac{c}{3} - c \ln(1 + a) \\
 &= 3 \ln \left(1 + \frac{ac}{3} \right) - c \ln \frac{c}{3} - c \ln(1 + a) \tag{2.2.6}
 \end{aligned}$$

we achieve the maximum value, when $p_1 = p_2 = p_3 = \frac{c}{3}$.

It thus seems to be

$$H_n(c) = n \ln \left(\frac{n+ac}{n} \right) - c \ln \frac{c}{n} - c \ln(1 + a) \tag{2.2.7}$$

The above result arises, when $p_1 = p_2 = \dots = p_n = \frac{c}{n}$.

Obviously, it will be true for a specific value of n , equation (2.2.4) gives

$$\begin{aligned}
 H_{n+1}(c) &= \max_{0 \leq p_i \leq c} [\ln(1 + ap_1) - p_1 \ln p_1 - p_1 \ln(1 + a) + H_n(c - p_1)] \\
 &= \max_{0 \leq p_i \leq c} \left[\begin{aligned} &\ln(1 + ap_1) - p_1 \ln p_1 - p_1 \ln(1 + a) + n \ln \left(\frac{n+a(c-p_1)}{n} \right) - (c - p_1) \ln \frac{(c-p_1)}{n} \\ &- (c - p_1) \ln(1 + a) \end{aligned} \right] \\
 &= (n + 1) \ln \left(\frac{n+1+ac}{n+1} \right) - c \ln \frac{c}{n+1} - c \ln(1 + a). \tag{2.2.8}
 \end{aligned}$$

Thus from (2.2.3), (2.2.5), (2.2.6) and (2.2.7) and the principle of mathematical induction, the result (2.2.7) and (2.2.8) are true for all value of n and c . Putting $c = 1$, we get the result that

$$\sum_{i=1}^n \ln(1 + ap_i) - \sum_{i=1}^n p_i \ln p_i - \sum_{i=1}^n p_i \ln(1 + a)$$

is maximum subject to $\sum_{i=1}^n p_i = 1$, when $p_1 = p_2 = \dots = p_n = \frac{1}{n}$ and the maximum value is

$$n \ln \left(\frac{n+a}{n} \right) - \ln \frac{1}{n} - c \ln(1 + a).$$

Which is modified Verma's *i. e.* hybrid Shannon [1, 2] result.

2.3 Maximization of Verma [2] measures of probabilistic entropy involving two parameters

$$V_{\alpha,\beta}(P) = \frac{1}{1-\alpha} \ln \frac{\sum_{i=1}^n p_i^{\alpha+\beta-1}}{\sum_{i=1}^n p_i^\beta}, \quad \alpha \neq 1, \beta \geq 0, \alpha + \beta - 1 > 0 \tag{2.3.1}$$

For the application of this principle, we consider the maximization of

$$H_n(P) = \frac{1}{1-\alpha} \left[\ln \sum_{i=1}^n p_i^{\alpha+\beta-1} - \ln \sum_{i=1}^n p_i^\beta \right]$$

subject to the constraints

$$\sum_{i=1}^n p_i = c, \quad p_i \geq 0, \quad i = 1, \dots, n. \tag{2.3.2}$$

Let the maximum value be $H_n(c)$, then obviously

$$H_1(c) = \frac{1}{1-\alpha} [\ln c^{\alpha+\beta-1} - \ln c^\beta]. \tag{2.3.3}$$

If we choose p_1 arbitrarily between 0 and c , we have to maximize

$$\frac{1}{1-\alpha} [\ln \sum_{i=2}^n p_i^{\alpha+\beta-1} - \ln \sum_{i=2}^n p_i^\beta]$$

Subject to the constraints

$$\sum_{i=1}^n p_i = c - p_1, \quad p_i \geq 0, \quad i = 1, \dots, n.$$

This maximum value will be $H_{n-1}(c - p_1)$. The principle of optimality then gives the recurrence relation

$$H_n(c) = \max_{0 \leq p_1 \leq c} \left[\frac{1}{1-\alpha} \{ \ln p_1^{\alpha+\beta-1} - \ln p_1^\beta \} + H_{n-1}(c - p_1) \right] \tag{2.3.4}$$

On setting $n = 2$, in (2.3.4) we achieve the following result, on using (2.3.3)

$$\begin{aligned} H_2(c) &= \max_{0 \leq p_1 \leq c} \left[\frac{1}{1-\alpha} \{ \ln p_1^{\alpha+\beta-1} - \ln p_1^\beta \} + H_1(c - p_1) \right] \\ &= \max_{0 \leq p_1 \leq c} \left[\frac{1}{1-\alpha} \{ \ln p_1^{\alpha+\beta-1} - \ln p_1^\beta + \ln(c - p_1)^{\alpha+\beta-1} - \ln(c - p_1)^\beta \} \right] \\ &= \frac{2}{1-\alpha} \left[\ln \left(\frac{c}{2} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{2} \right)^\beta \right] \end{aligned} \tag{2.3.5}$$

we achieve the maximum value, when $p_1 = p_2 = \frac{c}{2}$.

Again, setting $n = 3$, in (2.3.4) we achieve the following result, on using (2.3.5)

$$\begin{aligned} H_3(c) &= \max_{0 \leq p_1 \leq c} \left[\frac{1}{1-\alpha} \{ \ln p_1^{\alpha+\beta-1} - \ln p_1^\beta \} + H_2(c - p_1) \right] \\ &= \max_{0 \leq p_1 \leq c} \left[\frac{1}{1-\alpha} \{ \ln p_1^{\alpha+\beta-1} - \ln p_1^\beta \} + \frac{2}{1-\alpha} \left\{ \ln \left(\frac{c-p_1}{2} \right)^{\alpha+\beta-1} - \ln \left(\frac{c-p_1}{2} \right)^\beta \right\} \right] \\ &= \frac{1}{1-\alpha} \left[\ln \left(\frac{c}{3} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{3} \right)^\beta \right] + 2 \left\{ \ln \left(\frac{c}{3} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{3} \right)^\beta \right\} \\ &= \frac{3}{1-\alpha} \left[\ln \left(\frac{c}{2} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{2} \right)^\beta \right] \end{aligned} \tag{2.3.6}$$

we achieve the maximum value, when $p_1 = p_2 = p_3 = \frac{c}{3}$.

It thus seems to be

$$H_n(c) = \frac{n}{1-a} \left[\ln \left(\frac{c}{n} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{n} \right)^\beta \right] \tag{2.3.7}$$

The above result arises, when $p_1 = p_2 = \dots = p_n = \frac{c}{n}$.

Obviously, it will be true for a specific value of n , equation (2.3.4) gives

$$\begin{aligned} H_{n+1}(c) &= \max_{0 \leq p_i \leq c} \left[\frac{1}{1-a} \{ \ln p_1^{\alpha+\beta-1} - \ln p_1^\beta \} + H_n(c - p_1) \right] \\ &= \max_{0 \leq p_i \leq c} \left[\frac{1}{1-a} \{ \ln p_1^{\alpha+\beta-1} - \ln p_1^\beta \} + \frac{n}{1-a} \left\{ \ln \left(\frac{c-p_1}{2} \right)^{\alpha+\beta-1} - \ln \left(\frac{c-p_1}{2} \right)^\beta \right\} \right] \\ &= \frac{1}{1-a} \left[\ln \left(\frac{c}{3} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{3} \right)^\beta \right] + n \left\{ \ln \left(\frac{c}{3} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{3} \right)^\beta \right\} \\ &= \frac{(n+1)}{1-a} \left[\ln \left(\frac{c}{2} \right)^{\alpha+\beta-1} - \ln \left(\frac{c}{2} \right)^\beta \right]. \end{aligned} \tag{2.3.8}$$

Thus from (2.3.3), (2.3.5), (2.3.6) and (2.3.7) and the principle of mathematical induction, the result (2.3.7) and (2.3.8) are true for all value of n and c . Putting $c = 1$, we get the result that

$$\frac{1}{1-a} \left[\ln \sum_{i=1}^n p_i^{\alpha+\beta-1} - \ln \sum_{i=1}^n p_i^\beta \right]$$

is maximum subject to $\sum_{i=1}^n p_i = 1$, when $p_1 = p_2 = \dots = p_n = \frac{1}{n}$ and the maximum value is

$$\frac{n}{1-a} \left[\ln \left(\frac{1}{n} \right)^{\alpha+\beta-1} - \ln \left(\frac{1}{n} \right)^\beta \right].$$

Which is Verma’s [2] result.

3 Concluding Remarks

In this communication, when we maximize the Verma [1, 2] entropy by splitting any optimization event into finite number of subevents *i. e.* by dynamic programming, then we conclude the following results for all cases:

- (i) As the probability increases, the allotment of subevents also increases. This is again expected for let p_1, \dots, \dots, p_n be arranged in ascending order and let m_1, \dots, \dots, m_n be the optimal assignments so that $\max \left(\frac{p_i}{m_i}, \frac{p_j}{m_j} \right) \leq \max \left(\frac{p_i}{m_j}, \frac{p_j}{m_i} \right)$. Since $p_j > p_i$, this implies that $m_j \geq m_i$ for if $m_j < m_i$, then $\frac{p_j}{m_j} > \frac{p_i}{m_i}$ and this contradicts our assumption that the given allotment is optimal.
- (ii) As we subdivide the events, the value of the maximum entropy increases or remains unchanged.

Competing Interests

Author has declared that no competing interests exist.

References

[1] Verma RK, Dewangan CL, Jha P. An Unorthodox Parametric Measures of Information and Corresponding Measures of Fuzzy Information, Int. Jour. of Pure and Appl. Mathematics, Bulgaria, Vol. 2012;76(4):599-614.

[2] Verma RK, Verma, Babita. A New Approach in Mathematical Theory of Communication” (A New Entropy with its Application), Lambert Academic Publishing; 2013.

- [3] Bellman R. Dynamic Programming. Princeton, NJ, USA: Princeton University Press. 1957;342.
- [4] Akkiraju R, Verma K, Goodwin R, Doshi P, Lee J. Executing abstract web process flows, In Workshop on Planning and Scheduling for Web and Grid services, ICAPS, Whistler, Canada; 2004.
- [5] Tatman JA, Shachter RD. Dynamic programming and influence diagrams, IEEE Transactions on Systems, Man, and Cybernetics. 1990;20(2):365-379.
- [6] Andrews T, Curbera F, Dholakia H, Goland Y, Klein J, Leymann F, Liu K, Roller D. Business process execution language for web services, version 1.1, Tech. rep., IBM; 2003.
- [7] Puterman ML. Markov Decision Processes: Discrete Stochastic Dynamic Programming, Wiley series in probability and mathematical statistics, Wiley-Interscience; 1994.
- [8] Doshi P, Goodwin R, Akkiraju R, Verma K. Dynamic workflow composition: Using markov decision processes, International Journal of Web Services Research (IJWSR). 2005;2(1):1-7.
- [9] Kapur JN. On some applications of dynamic programming to information theory. In Proceedings of the Indian Academy of Sciences-Section A, Jan. New Delhi: Springer India. 1968;67(1):1-11.
- [10] Kapur JN. Measures of Information and Their Application, Wiley Eastern, New Delhi; 1997.
- [11] Shannon CE. A Mathematical Theory of Communication, Bell System Tech. J. 1948;27:379-423:623-659.

© 2023 Verma; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<https://www.sdiarticle5.com/review-history/97590>